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1. Freeze. You are under . Put down your weapon.
(A) catch (B) arrest (C) watch (D) control (E) exposure
2. Officer Li is asking John to step out of his car to do a test.
(A) air breathing (B) air blowing  (C) breathing (D) breathtaking (E) breathalyzer
3. means driving a car after consuming too much alcohol.
(A) Collision (B)Hitand run  (C) Speeding (D) Towing (E) Drunk driving
4. A team from Da-an precinct was assigned to conduct a police at a night club.
(A) raid (B) freeze (C) run down (D) runway (E) report
5. Youare for speeding in a school zone.
(A) stop (B) ticketed (C) controlled (D) videotaping  (E) signed
6. Two police officers from the Traffic Police Corps were doing enforcement after 10pm.
(A) pull through (B) passing away (C) committing (D) over (E) DUI
7. The Aviation Police are security examination at local airports around Taiwan.
(A) responsible for (B) charged with (C) focused
(D) organized (E) forbidden
8. is a crime punishable by a fine or imprisonment for less than one year.
(A) Felony (B) Homicide (C) Armed robbery
(D) Sales of heroine (E) Misdemeanor
9. Drug traffickers often sell amphetamines in chat rooms.
(A) recruit (B) remorse (C) restricted access
(D) regret (E) repair
10. Victims of sex trafficking are often found on streets or working in
(A) brothels (B) headquarters (C) underhand (D) deserts (E) department stores
11. John was given a citation for parking on Holly Street.
(A) authorized (B) illegal (C) lawtul (D) violent (E) legitimate
12. Tom needs to his innocence by collecting more evidence.
(A) proof (B) confess (C) realize (D) prove (E) know
13. After 9-11, the US government is doing everything possible to terrorism.
(A) decide (B) fight (C) forge (D) focus (E) deal



14. The Command Center has Officer Chen that there’s a traffic accident.

(A) pointed (B) involved (C) notified (D) reported (E) said
15.A test has to be done to eliminate any suspicion of drug abuse.
(A) urban (B) unit (C) unite (D) urinate (E) urine
16. I want to report a(n) . Someone beat me because I accidentally bumped into him.
(A) accident (B) action (C) crash (D) assault (E) violence
17. is holding somebody against his or her will and asking ransom for a victim’s release.
(A) Robbery (B) Burglary (C) Domestic violence
(D) Kidnapping (E) Rape
18. The police are checking to see if you are a reported person.
(A) to miss (B) miss (C) missed (D) missing (E) misses
19. Teachers held a about their unfair teaching environment.
(A) seat (B) sit-across (C) sit-up (D) sit-tight (E) sit-in
20. The judge needs to find out the suspect’s for this murder case.
(A) creative (B) motive (C) concern (D) pressure (E) promotion

21. DWI stands for driving while

(A) influence (B) injured (C) intoxicated (D) importing (E) insured
22. The judge gave Mary a life because she had killed her parents purposely.

(A) sentence (B) judgment (C) rehab (D) execution (E) trial
23. To legally search one’s home, the police must have a search :

(A)ID (B) note (C) order (D) warrant (E) ticket
24. John’s bike was stolen. He went to the police station to see if there was a camera in

operation at the time.

(A) transmit (B) remember (C) surveillance (D) receive (E) decorate
25. Frisk is a person’s outer clothing to see if the suspect has a weapon.

(A) patting down (B) sliding (C) seizing (D) detaining (E) grabbing

S EEHRBEL ER- RREFPES (104)

26. Detective Chang: How may I help you?
Susan: I’d like to report :
(A) a burglary because my house was broken with
(B) a kidnapping because my bag was stolen
(C) a shoplifting because my bike was lost in
(D) a robbery because my purse was taken from me
(E) a murder because my son was missing out

27. Police: Do you remember ?
Mary: She was wearing a black T-shirt and a pair of jeans.
(A) the suspect wear what (B) the suspect look like
(C) what the suspect was wearing (D) wore the suspect what

(E) the suspect dresses

28. Police: Do you remember the of your car?
John: Oh, let me see. It’s a Cadillac.
(A) color (B) make (C) year (D) plate number (E) engine



29. Police: Good morning. I am Officer Li. ?
George: 1 want to report a theft. I can’t find my car.
(A) Is there anything I can help you with (B) Can I call 119 for you
(C) This 1s Central Police Station (D) Where did you park your car
(E) Can I make a statement

30. Police: Please show me your driver’s license and vehicle registration.

Driver: .
(A) Here I am (B) Thank you (C) Here you go
(D) I know (E) Show me your cuffs

S RERIRGIRE BHRIR)  FIBEL > EH- BREFHER (404)

A Taipei police officer has been _ 31  for allowing some tourists to handle his firearm earlier in
the week. The officer _ 32  Luo received demerits for _ 33  firearm regulations. Although he
claimed that it was a friendly, diplomatic gesture, the station’s deputy director noted that “this kind of
situation cannot be _ 34 .” Officer Luo allowed a group of foreign visitors to play with his gun, while
he was working at an intersection near the Martyrs’ Shrine, a popular Taipei tourist _ 35 . In a video

posted online, Officer Luo was also seen loading and unloading the 36 in front of the curious
tourists. (excerpted from Chinapost online, 2012)
31. (A) yield (B) punished (C) destroyed (D) surrendered  (E) hit

32. (A) surnamed (B) nicknamed  (C) firstnamed (D) given named (E) maiden named

33. (A) helping (B) collecting (C) breaking (D) holding (E) obeying
34. (A) forgotten (B) forbidden (C) forgone (D) forfeited (E) forgiven
35. (A) guide (B) map (C) drive (D) site (E) house
36. (A) pistol (B) cartridge (C) cuffs (D) vast (E) baton

37. According to the passage, what is the central message?
(A) It was not appropriate behavior to let the tourists play with the officer’s gun.
(B) The station’s deputy director noted that handing the gun to the tourists was a friendly gesture.
(C) The station’s deputy director didn’t think it was an improper action.
(D) Officer Luo got a prize.
(E) Officer Luo got a promotion.

38. What does “demerit” mean?
(A) promotion (B) prize (C) strength (D) punishment  (E) bonus

39. What is the best title for this passage?
(A)Forbidden treatment among officers
(B) How to make a friendly, diplomatic gesture
(C) Police punish officer for letting tourists handle gun
(D) Martyrs’ Shrine — most popular tourist attraction in Taipei
(E) Police officer’s real story

When people go online they are _ 40  when it comes to personal information. Most share
information that they would never give someone they met casually _ 41 . Many chatting programs
and Internet Service Providers ask you to _ 42  a profile about yourself. What most people don’t
know is that this information is frequently _ 43  to anyone who wants to see it online. There are
waysto _ 44  yourself online:



Whenever you complete any form online, check to see what the site’s privacy policy is.
Don’t include pictures of yourself or post your personal information on your website.
Use a free web-based e-mail account such as Hotmail when writing to strangers.
Use a genderless, non-provocative screen name.
5. Chat with people you know.

And remember that the moment you get into a chat room with people you don’t know, be careful.
Keep in mind these are _ 45  you’re talking to. They may sound friendly, but anyone can be anything
they want online. (excerpted from English for Police by Higher Education Press, 2001)

sl NS

40. (A) smart (B) fragile (C) strong (D) guilty (E) naive
41. (A) cross lines (B) between lines (C) in-line (D) off-line (E) on-line
42. (A) imagine (B) store (O) fill out (D) indicate (E) search
43. (A) unable (B) invisible (C) casted (D) talk (E) available
44. (A) protect (B) reveal (C) showoff (D) identify (E) browse
45. (A) family (B) strangers (C) co-worker (D) staff (E) agency

46. According to the text, most people
(A) are aware of the vulnerability when they go online
(B) don’t know they can be easily tracked by others online
(C) take various safety measure when they chat online
(D) are eager to share their personal information with others online
(E) surf online with a Hotmail account

47. Others can easily find out who you are by
(A) the information you provide online (B) writing e-mail to you
(C) chatting with you on the phone (D) locating who your neighbors are
(E) getting to know you on the street

48. One of the measures the text suggests to guard against dangerous online actions is
(A) not to go online at all
(B) to chat with someone who you don’t know online
(C) never to give out your personal information to any ISP
(D) not to surf with your real name
(E) to provide your information whenever and whatever you want online

49. What is the best title for this article?
(A) Online Vulnerable People (B) Online Conviction By Strangers
(C) Handling Online Problems (D) Technology Crimes and You
(E) Protect Yourself Online

50. Which of the following is mentioned as one of the safety measures for chatting online?
(A) Chat with friendly strangers.
(B) Share your information only with persons who sound friendly.
(C) Chat with people you already know.
(D) Chat with unknown or unfamiliar people.
(E) Set up a secret code with strangers.
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1. Carrying illegal weapon is a in our nation.
(A) prize (B) plan (C) cause (D) felony (E) bargain
2. Both Mary and I teach at Central Police University, so we are :
(A) school mates (B) colleagues (C) friends (D) buddies (E) brokers
3. A kidnapper kidnapped a young girl and threatened to kill her if the was not paid.
(A) random (B) range (C) ransom (D) raise (E) rescue
4. She’s arrested on of killing her husband.
(A) detention (B) obtaining (C) crime (D) suspicion (E) seizure
5. He a crime because he accidentally killed a man during a fight.
(A) reduced (B) committed (C) arrested (D) charged (E) accused
6. Bicycle is free of charge to prevent from stolen in Taiwan.
(A) engraving (B) pumping (C) painting (D) circling (E) ordering
7. The Coast Guard Administration is responsible for the maritime and emergency services.
(A) transplants ~ (B) seminars (C) properties (D) shipments (E) rescues
8. For flight safety, sharp objects and flammable items are on the aircraft.
(A) granted (B) permitted (C) allowed (D) admitted (E) prohibited
9. A is a gift made or promised to a person to persuade him or her to act dishonestly.
(A) bride (B) breed (C) brigade (D) breath (E) bribe
10. Two suspects were caught because their motorcycle’s was captured by a CCTV camera.
(A) registration  (B) zip code (C) plate number (D) phone number (E) driver’s license
11. While the neighborhood, Officer Lin saw two men peeping through a store’s window.
(A) forcing (B) patrolling (C) applying (D) following (E) towing
12. Criminal Investigation Bureau the entire shipment because of the illegal articles.
(A) seized (B) frisked (C) trafficked (D) violated (E) welcomed
13. Officer Lin John about his wife’s whereabouts.
(A) proved (B) prosecuted (C) fined (D) punished (E) interrogated
14. Because Taiwan is located in the sub-tropical climate area, there are many in the summer
and early fall.
(A) snowstorms  (B) tsunamis (C) earthquakes (D) typhoons (E) tornadoes



15. With the outbreak of H7N9, how to control this easily spreading disease has become a major
in mainland China.
(A) destruction  (B) bargain (C) concern (D) assistance (E) attack

S EECHBEL ER- BREEAEE (104)

16. Police: Please roll down your window and show me your driver’s license.

Driver: :
(A) Here you go (B) Here I am
(C) Here we are (D) Here is it
(E) There is here
17. Officer: Please step out of the car for a test. I think you are driving
Driver: But I only drink a can of beer.
(A) blowing / while intoxicated (B) breath / under intoxicated
(C) breathtaking / while influenced (D) breathalyzer / under the influence of alcohol
(E) blew / under drunk

18. Mr. Smith: Where can I apply for a visa extension?
Duty officer: You can apply for it at the .
(A) National Police Agency (B) Criminal Investigation Bureau
(C) National Immigration Agency (D) National Security Bureau
(E) Aviation Police Office

19. Mrs. Jefferson: Can you tell me how to get to Taipei World Trade Center?
Officer Lin: :
(A) It’s about 15 minutes on foot (B) There are a lot of restaurants around
(C) You can visit Taipei 101 on the way there (D) I will call a taxi for you
(E) Walk down the road and it’s on your left

20. Henry: Why was John arrested for burglary?
Paul: :
(A) Because he beat his wife everyday (B) Because he attacked a pedestrian
(C) Because he hit his son and took his money (D) Because he broke into his neighbor’s house
(E) Because he assaulted a police officer

ZRERIEHRBEL  EB- BEEEF DTSR (40 4)

A Spanish bullfighter was _ (21) _ in Peru, and his father wants to know why his son’s body was
returned to Spain with several organs  (22) . The bullfighter’s father will travel to Peru and will not
rest  (23)  justice is served. The body of his 22-year-old son was  (24)  in July on a beach near
Lima a week after he went missing.

The young man was _ (25)  to death with a blunt object. Four people, three policemen  (26)
confessed to the crime. They said they wanted to steal the $1,200 the young man had been paid after a
bullfighting  (27) .

A(n) _ (28)  was conducted in Peru, and the young man’s body was sent to his family in Spain
three days later. A second examination in the Spanish capital showed that he was missing several organs.
Even today, the mystery still remains  (29) . (excerpted from GEPT Cloze Test by Jolihi Press,
2004)



21. (A) murder (B) murdered (C) murdering (D) to murder (E) to be murder
22. (A) missing (B) miss (C) misses (D) missed (E) to miss
23. (A) until (B) ahead (C) behind (D) because (E) during
24. (A) find (B) to find (C) finded (D) found (E) finding
25. (A) beat (B) beating (C) beaten (D) beated (E) to beat
26. (A) include (B) including (C) to include (D) included (E) inclusive
27. (A) contest (B) test (C) examination (D) protest (E) promotion
28. (A) surgery (B) autopsy (C) organ (D) orchestra (E) answer
29. (A) undeveloped (B) unveiled (C) understood (D) unemployed (E) unsolved
30. What’s the closest meaning to the word “blunt” in the second paragraph?

(A) sharp (B) bright (C) rough (D) soft (E) dull

II.

When society is in great disorder, harsh laws and stern measures must be used to restore order. In
__(31)__ of the recent surge of crime in our society, it is necessary to revise the law to allow police and
the legislature to deal sternly  (32)  the lawless. Without the use of harsh action, criminals would
absolutely notbe  (33) .

We are of course aware that rigorous laws are  (34)  a deterrent. If crime is to be substantially
~(35)_, it is essential to improve public morality through education. But this approach takes a long
time to produce results.

Unfortunately, crime is multiplying  (36)  in Taiwan, and drastic measures must be ~ (37)  to
check its growth. It is urgent that police ~ (38)  given greater powers and that the court mete out stiff
penalties for lawbreakers. (excerpted from GEPT Cloze Test by Jolihi Press, 2004)

31. (A) regard (B) view (C) return (D) matter (E) judge
32. (A) for (B) of (C) with (D) at (E) to
33. (A) doubted (B) persuaded (C) deterred (D) hated (E) motivated
34. (A) at best (B) at last (C) at first (D) at length (E) in detail
35. (A) shocking (B) increased (C) decreased (D) not changed (E) attempted
36. (A) usually (B) neutrally (C) mutually (D) happily (E) quickly
37. (A) adapted (B) accustomed  (C) taken (D) decided (E) searched
38. (A)is (B) are (C) have (D) be (E) has
39. What’s NOT an example of lawbreaker?

(A) hijacker (B) murderer (C) burglar (D) pickpocket  (E) eyewitness

40. What’s an example when society is in great disorder?
(A) less criminals on the streets
(B) crime rate increases
(C) crime rate improves
(D) crime rate doesn’t change
(E) public morality rises
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CRARIR  FARMEL  EB- BREEPER (20 4)

It isn’t always easy for pedestrians to get around in a large city. A bustling city has many dangers
that you should be aware of at all times. One of the many hazards people must face in Taipei is that of
motorcyclists driving on the sidewalks. Taipei is often crowded during rush hours. Traffic can be
horrible. Not only are the streets dangerous, but the sidewalks are unsafe as well. It is almost impossible
to walk without having a motorcycle roar up behind you. Some of the motorcyclists are searching for a
parking space. Others are trying to avoid traffic on the streets. Either way, they can be a real headache
for people who are walking.
Since motorcycles have to park on the sidewalks, there is no easy answer to this problem. One
choice is to make separate areas for motorcycle parking. Another is to build special bridges above the
sidewalks just for people. Right now, perhaps the best solution may be to make to motorcyclists get off
their motorcycles when they are on the sidewalks. This way, everyone on the sidewalks will be on the
same level. (excerpted from GEPT Reading Comprehension by Jolihi Press, 2004)

The article deals with

(A) pedestrians were injured by cars (B) a problem faced by pedestrians in Taipei

(C) rush hour traffic in a growing city (D) the joys of motorcycle riding
(E) the difficulties of finding a parking space in Taipei

The author believes that

(A) everyone shouldn’t buy a car

(B) motorcyclist shouldn’t ride on the sidewalks
(C) pedestrians easily get injured

(D) cars should be allowed to park on the sidewalks
(E) people shouldn’t walk in Taipei

What two solution options were mentioned in the above article?
(A) Bridges and parking spaces.

(B) Closing the sidewalks and fining pedestrians.

(C) Special hours for motorcycles and pedestrians.

(D) Traffic tickets and extra police.

(E) More cars and garages.

What is the easiest solution to this problem?

(A) Having people walk on special bridges.

(B) Having people drive more carefully.

(C) Making people get off their motorcycle.

(D) Telling motorcyclists to drive slower.

(E) Making people drive on the road more often.

45. What’s the closest meaning to the word “bustling” in the first paragraph?

(A) central (B) slow (C) empty (D) busy (E) dead

46. Which statement is true?

(A) You should stay alert while walking on the sidewalks.

(B) To avoid traffic, people drive the cars on the sidewalks.

(C) Building a special bridge for motorcycle can be a solution to the problem.
(D) Pedestrians can get in and out of the big city easily.

(E) It’s safe to walk on the streets during rush hour.



II.

A new form of identification relies on DNA, which carries the genetic information of each person.
Everyone’s DNA is different except for identical twins. DNA profiling or typing is sometimes called
DNA fingerprinting because it allows police to identify an individual in the same way as fingerprints do.
DNA can be extracted from any body fluid or from fragments of a body.

Forensic scientists do not look at the whole of a person’s DNA sequence, but rather a sub-set of a
DNA profile. DNA profiles are a very powerful means of determining whether two or more samples
may or may not have come from the same person. If DNA profiles do not match, they came from
different people. However, if they do match, there is still a very slight chance that they may have come
from different people.

DNA is the same in every cell of the body, and stays the same throughout life. As such, DNA
profiles taken at different times and places can be compared in order to determine whether or not they

come from the same person. (excerpted from Professional Police English by Central Police University
Press, 2011)

47. The article is about .
(A) what DNA is (B) how to make DNA

(C) where to store DNA (D) why fights DNA in the lab
(E) when to extract DNA

48. What’s closest meaning to the word “means” in the second paragraph?
(A) direction (B) construction (C) method (D) threat (E) area

49. What’s NOT an example of extracting DNA from body fluid?
(A) blood (B) flesh (C) saliva (D) sweat (E) nasal mucus

50. Which statement is true?
(A) DNA typing is different from fingerprinting.
(B) Forensic scientists have to look at the whole set of a person’s DNA sequence.
(C) DNA is the same in every cell of the body, but doesn’t stay the same throughout life.
(D) Everyone’s DNA is different except for identical twins.
(E) One person’s DNA can only be taken at a specific time.
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1. Mary got a(n) for driving too fast.
(A) citation (B) ID (C) amendment (D) license (E) certificate
2. The mayor of Kaohsiung agreed to provide financial aid to the flood
(A) police (B) victims (C) applicants (D) agents (E) protesters
3. You can’t come into my house without a search
(A) penalty (B) evidence ©) checkbook (D) warrant (E) regulation
4. Taipei’s traffic is too , especially during the rush hour. I can’t stand it.
(A) exclusive (B) basic (C) reasonable (D) suspicious (E) chaotic
5. Conducting an outdoor assembly without any is illegal.
(A) confession (B) conviction (C) permission (D) questioning  (E) evaluation
6. The police retrieved any camera footage around the crime scene.
(A) proof (B) security (C) crime (D) metal (E) national
7. Hurry and call a(n) , someone just got hit by a truck.
(A) ambulance  (B) jury (C) judge (D) witness (E) informant
8. You have the law because you are underage and still wander around after midnight.
(A) enforced (B) detected (C) violated (D) granted (E) illegaled
9. You are under for selling Ecstasy to school kids.
(A) to arrest (B) arresting (C) arrested (D) arrests (E) arrest
10. I"d like to report a lost object. My purse was :
(A) stealing (B) been stealing (C) stole (D) stolen (E) steals
11. You have the right to remain silent. Anything you say can be used you in a court of law.
(A) in (B) upon (C) by (D) for (E) against
12. Officer Li asks the driver to because of speeding.
(A) pull out (B) pull away (C) pull off (D) pull over (E) pull down
13. The police kept the suspect under
(A) surveillance  (B) violation (C) service (D) attack (E) prevention
14. People with a(n) record often have difficulty finding a job.
(A) critical (B) transnational (C) criminal (D) global (E) public

15. That actress had to receive help in order to overcome her drug
(A) commitment (B) addiction (C) organization (D) investigation (E) custody



S EHHRBEL EBE-BEEFNEE (104)
16. A: Where 1s Detective Lin’s office?

B: .
(A) Around 3 o’clock (B) On the 3™ floor
(C) Not until 3 (D) In about 3 minutes

(E) About 3 years ago

17. Officer Lin: Officer Wu, could I talk to you for a minute?

Officer Wu:
(A) May I take a message? (B) Next Saturday.
(C) I have talked to her. (D) I’m sorry. I’m just in the middle of something.

(E) I’'m sorry. Detective Wang isn’t here.
18. A: 1 would like to withdraw NT$50,000.

B:
(A) Call the police! (B) How did you lose that amount of money?
(C) May I see your bankbook, please? (D) That’s expensive.

(E) Here’s my driver’s license.

19. A: Excuse me, duty officer, where is the bus stop?

B: .
(A) Next to the library (B) In the kitchen
(C) Next week (D) In about 5 minutes

(E) In the classroom

20. A: This wouldn’t have happened if you had watched where you were going.
B: It wasn’t my fault. You ran through the red light.
A: The light was yellow.
B: It couldn’t have been yellow on your side because it was green when I went through it. I hope
you have insurance.
A: We’ll see what the cops have to say. They should be here in any minute.
Q: What has just taken place?
(A) B stopped at the red light. (B) A was running down the street.
(C) They stole something. (D) A has car insurance.
(E) They had a car accident.

SR ERER D HFRBYEL EHR- BREFNE R (404)
I. (21-26 &)

When you drive a car, it is important to always look at what is going on around you. Cars, scooters,
bicycles and people are everywhere, and it is necessary to always be _ 21  the lookout for them.
When you _ 22  aleft or right turn, you have to make sure that no one is trying to get around you. It
is a good idea to always look in your mirrors. If you are careful, youcan _ 23  many accidents. Each
year, thousands of people die because people are careless when they drive. These accidents don’t have to

24 . Being a careful driver is one of the best things _ 25  a person can do when they are on the
road. (excerpted from GEPT cloze test by Jolihi Press, 2003)

21. (A) on (B) in (C) for (D) by (E) away

22. (A) get (B) do (C) make (D) play (E) turn

23. (A) follow (B) keep (C) catch (D) avoid (E) increase
24. (A) take off (B) take place (C) take over (D) take away (E) take down
25. (A) which (B) where (C) whom (D) who (E) that



26. What should you do when you drive a car?
(A) Just drive and ignore any other cars.
(B) Should not care anyone when you turn right or left.
(C) Just pay attention to cars, but not bicycles nor people.
(D) Always look at what is going on around you.
(E) Being a careless driver when you are on the road.

I1. (27-40 £&)

There is a(n) _ 27  — a surprising, opposite result — to all this dieting. While many people are
becoming thin, other people are becoming overweight. More people are overweight than in the past! In
many countries, there isa _ 28  problem with obesity. There are two main reasons. First, these days,
many people often go to fast-food restaurants. At these restaurants, many of the foods (such as fried
potatoes and deep-fried meat) are _ 29  in fat, so are some of the dairy products. Second, dieting
doesn’t often work. Sometimes people _ 30  weight fast, but they usually gain it back again. Almost
95 percent of all people gain back weight after _ 31 . One problem with obesity is easy to see:
overweight people have more sicknesses, such as heart disease and diabetes. (excerpted from
Interactions Access by McGraw-Hill, 2007)

27. (A) work (B) wordless (C) irony (D) effort (E) joy
28. (A) small (B) violent (C) serious (D) minor (E) light
29. (A) high (B) low (O) tall (D) good (E) mediocre
30. (A) lost (B) lose (C) loss (D) are lost (E) losed
31. (A) adiet (B) a minute (C) driving (D) hiking (E) reading
32. Ifyou _ something, you usually put it in oil.

(A) steam (B) boil (C) grill (D) fry (E) bake
33. Ifyou  weight, you will weight more.

(A) hold (B) lost (C) gain (D) get (E) make

34. Based on the passage, which of the followings does not belong to the group?
(A) diabetes (B) heart disease  (C) sickness (D) health (E) illness

35. Based on the passage, which of the followings does not belong to the group?
(A) overweight  (B) slender (C) heavy (D) fat (E) plump

36. What does the underlined word mean in the sentence?
Dieting often doesn’t work. People usually gain back the weight.
(A) have a job (B) succeed (C) operate (D) make or shape (E) be active and try

37. What does the underlined word mean in the sentence?
I have to work hard to stay thin.

(A) have a job (B) succeed (C) operate (D) make or shape (E) be active and try
38. What is the closest meaning to “While” in line 1?

(A) period of time (B) occasionally (C) although (D) whereas (E) at the same time
39. What is the closest meaning to “obesity” in line 77

(A) a condition of being very overweight (B) a condition of drinking too much

(C) a condition of working too much (D) people are becoming thin

(E) people are eating too much sugar



40. What is the closest meaning to “dairy” in line 5?

(A) disease (B) journal (C) every day (D) food (E) products from milk
T R FRBEL 8- BREENEF (204)
I. (41-45 §)

My name is Elena Sanchez. I’'m from Mexico, but now I live in California. I’'m a student here in
English language classes at a small college.

I live in an apartment building. It’s on the corner of Olive Street and Sycamore Avenue. My address
1s 2201 Olive Street. There’s a big olive tree in front of the building. There’s a park across the street.
There are a lot of oak trees in the park. The trees are beautiful in the summer.

A lot of my neighbors are from different countries. The people next to me are from Indonesia. The
family across from the Indonesian family is from Colombia.

The stores in this neighborhood are always busy. There’s a Korean drugstore and an Armenian
flower shop. A Chinese church is next to the flower shop. There are three restaurants on Olive Street:

one Mexican, one Japanese, and one Moroccan-Italian-American! (excerpted from Interactions Access
by McGraw-Hill, 2007)
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41. What is the main idea of the article?
(A) Elena studies English in a college in California.
(B) The people in Elena’s neighborhood are from many countries.
(C) There are restaurant with food from many countries in Elena’s neighborhood.
(D) Elena likes her neighbors very much.
(E) Elena can try different cuisines from many different countries everyday.

42. Place Ais .
(A) a Chinese church (B) the Indonesian family
(C) a park (D) the Colombian family
(E) a Japanese restaurant

43. Place B is .
(A) a Chinese church (B) the Indonesian family
(C) a park (D) the Colombian family
(E) a Japanese restaurant

44. Place E is :
(A) a Chinese church (B) the Indonesian family
(C) a park (D) the Colombian family
(E) a Japanese restaurant

45. Based on the passage, which of the followings does not belong to the group?
(A) Japan (B) Mexico (C) America (D) Indonesia (E) Colombia



IL. (46-50 £5)

Many people are surprised when they find that the Internet was set up in the 1960s. At that time,
computers were large and expensive. Computer networks didn’t work well. If one computer in the
network broke down, then all of the network stopped. So a new network system had to be set up. It had
to be good enough to be used by many different computers. If part of the network was not working,
information could still be sent through another part. In this way, the computer network system would
keep working all the time.

In the early 1970s, computers were still very expensive and the Internet was difficult to use. By the
start of the 1990s, computers became less expensive and easier to use. Scientists had also developed
software that made surfing the Internet more convenient.

Today, it is easy to get on line and it is said that millions of people use the Internet every day.
Sending e-mail is more and more popular with students. (excerpted from GEPT reading comprehension
by Jolihi Press, 2003)

46. It took about for computers to become less expensive.

(A) 10 years (B) 20 years (C) 30 years (D) 40 years (E) 50 years
47. In the 1960s, the computer network .

(A) had few problems (B) had a lot of problems

(C) was good enough to be used (D) was already used by millions of people

(E) was not set up yet

48. Which statement is TRUE?
(A) The Internet has a history of less than thirty years.
(B) Scientists set up a new network system to make computers cheaper.
(C) In the 1970s, computers became easier to use.
(D) People didn’t have enough software to get on line conveniently until the early 1990s.
(E) Even today, it 1s still difficult to use the Internet and not many people use it.

49. What’s the opposite of “expensive” in line 2?
(A) costly (B) priceless (C) nonexpensive (D) invaluable (E) cheap

50. What does “e” in the word “e-mail” in line 11 stand for?
(A) electronic (B) electronics (C) electro (D) electric (E) electrical
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1. It 1s assumed that the police are the special of the citizens’ liberties and the
community’s tranquility.
(A) gardeners (B) amateurs (C) guardians (D) gangsters (E) colleagues
2. The kidnapper demanded a(an) of 200,000 US dollars for freeing the hostage.
(A) surcharge (B) compensation
(C) wage (D) ransom
(E) income
3. Police Officer Helen Huang is traffic at a busy intersection when she sees two men
fighting on the sidewalk about half a block away.
(A) directing (B) waving (C) making (D) leading (E) taking
4. While working an 8:00 a.m. to 4:00 p.m. on May 24, 2015, Police Officers Tsai and Lin
received a radio call at 1:50 p.m. to investigate a report of a man with a gun in front of 56 Suren
Avenue.
(A) job (B) shift (C) task (D) work (E) turn
5. Signing a(an) treaty with a country may deter a criminal’s possible overseas fleeing.
(A) settlement (B) commerce (C) penalty (D) negotiation  (E) extradition
6. The civilians the former mayor of taking bribes.
(A) conspired (B) acquired (C) devoted (D) accused (E) impounded
7. Courts can not exclude eyewitness from a trial. Sometimes it is the only evidence to a
crime.
(A) apparel (B) plea (C) program (D) lineup (E) testimony
8. The lawyer is going to to a higher court next week in order to help his client who has
been suspected of being involved in a murder case.
(A) sentence (B) appeal (C) assist (D) outgo (E) notify
9. Human is a form of modern slavery where people profit from the control and
exploitation of others.
(A) trafficking (B) traffic (C) transportation (D) transport (E) immigration
10. With CCTV security systems, police are now keeping the area under constant
(A) care (B) suppression
(C) surveillance (D) change

(E) resolution
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S EECHREL  EB- RREEPER (204)

Police: Excuse me, sir.

Driver: Oh, I’'m sorry. I didn’t see any traffic signs.

(A) Why didn’t you wear a safety helmet?

(B) Here you are. You couldn’t care less.

(C) Didn’t you know it’s a one-way street? You shouldn’t drive in.
(D) How come you did this!

(E) What is the make of your car?

Bicyclist: Excuse me, officer. My bike isn’t working well. Could you help me with it?
Police: No problem. I’ll check and see if I can it.

(A) get along with (B) take care of

(C) be interested in (D) keep in touch with

(E) get rid of

Officer Liu: How have you been?

Officer Su:

(A) I am a sergeant.

(B) We have been together for one year.
(C) Not much.

(D) So ... what brings you here?

(E) Haven’t we met before?

Officer Lee: Hey, Jane. [ don’t have a pen with me. Can I use yours?
Officer Wang:
(A) Anything is O.K. with me.
(B) Sure. Go ahead.

(C) I am glad to hear that.

(D) Count me in.

(E) I am with you all the way.

Foreigner: Excuse me. How can I get to your office to apply for my police criminal record
certificate? Can I take the bus?

Duty officer: If you are not considering taking the MRT, you can take bus 236.

Foreigner: How often does the bus leave for your office?

Duty Officer: :

(A) Early in the morning (B) Twenty minutes later

(C) It runs always (D) In ten minutes

(E) Every half an hour

A: 1 am going to take the test for the police academy this Sunday, and I am feeling so nervous.

B: Take it easy! I will .

A: Thanks. I hope that I can pass the exam successfully.

(A) search high and low for it (B) count you in

(C) make it up (D) keep my fingers crossed for you
(E) be on the safe side

Officer Chen: I understand most terminologies in police English, but I’'m too dumb to know how to
use them.

Officer Tsai:

(A) I can relate. (B) That’s great.

(C) I am very proud of you. (D) I hate when that happens.

(E) Tell me about it.
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Duty Officer: Hello, Officer Shen speaking. May I help you?

Foreigner: I’ve lost my wallet and traveler’s checks. 1’d like to report a pickpocketing.
Duty Officer: Your name, please.

(A) Don’t be afraid of. You should have been more careful.

(B) Don’t worry! That’s a piece of cake.

(C) Don’t panic! We will do our best to help you.

(D) That’s not a big deal.

(E) Someone must have picked your pocket.

Foreigner: Hello. This is Stella Jobs. May I speak to Officer Chiang?

Duty Officer: Excuse me, ma’am. Officer Chiang is currently . Would you like to
leave him a message?

(A) taking French leave (B) skipping the duty

(C) leaving us alone (D) leaving behind

(E) on business leave

Foreigner: Officer Chiu, I really appreciate what you have done for me.
Officer Chiu: You’re welcome.

(A) I am just doing my business.

(B) I am just doing my job.

(C) I am just doing my things.

(D) I am just doing my mission.

(E) I am just doing my responsibility.

Ce UL S8 - RREEES (204)

Our commander is so picky about fruits that he only eats three kinds of them. One is watermelon,
another 1s pineapple, and guava.

(A) some is (B) the other is
(C) the others are (D) the another is
(E) others are

When a criminal is arrested, he or she has the option to remain

(A) silence (B) silent

(C) silently (D) silenced

(E) silencing

We spent our winter vacation in the Netherlands. it rained constantly, we still had a great
time.

(A) Although (B) In spite of

(C) Despite (D) Due to

(E) Because

It is prohibited by law to mail through parcel post any merchandise that might prove in
transport.

(A) to the danger (B) with danger

(C) dangerously (D) dangerous

(E) of the danger

the end of martial law in 1987, people were allowed to form new political parties and
have the right of assembly, free speech and publication.

(A) For (B) With
(C) At (D) In
(E) From



26. The police found a bunch of kids drugs in an empty house, so they stopped and arrested
them right away.

(A) taking (B) take
(C) to take (D) are taking
(E) of taking
27. After five hours of police questioning, the young man finally admitted someone else’s
credit card.
(A) having been used (B) to have used
(C) having used (D) to use
(E) have used
28. According to the police, the car accident faulty brakes.
(A) brought about (B) resulted in
(C) was because (D) led to
(E) was attributed to
29. Charles has difficulty of all the students figuring out the forensic chemistry
problem.
(A) few (B) fewer
(C) more (D) the least
(E) less
30. While , Police Officer Chang was approached by a woman who was screaming that
she had been assaulting by her husband.
(A) with patrol ~ (B) at patrol (C) in patrol (D) under patrol  (E) on patrol

mo AR HIRAEL  ER- RRETHER (204)
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Identity theft, the stealing of one’s personal status and information, is 31 to be the
fastest-growing crime in the world. For the past decade, more than 6.8 million people in Taiwan were
victims of identity theft, and this number is still 32 . People’s identity can be stolen in a variety
of ways. Thieves steal wallets or search through garbage cans for personal information. They change the
billing address to get control of accounts. 33, more high-tech thieves send fishing emails or use
devices to collect data from credit cards. Most of the time, people may not find out about the crime until
long after it 34 . While authorities can take some steps to protect the public 35 identity
theft, ultimately, it is one who needs to take responsibility for protecting oneself.

31. (A) asked (B) made (C) claimed (D) regarded (E) thinking
32. (A) declining (B) on the decrease
(C) vibrating (D) threatening
(E) on the increase
33. (A) In other words (B) In addition
(C) Generally (D) Merely
(E) However
34. (A) has done (B) has committed
(C) has been done (D) has been committed
(E) has been made
35. (A) from (B) of (O) to (D) with (E) at



(B)

Many societies still believe that certain jobs should be gender-specific, and this idea is
strengthened in schools. Both men and women 36 the gender bias in the workplace as well.
Women training for jobs that are traditionally 37 men, such as a plumber, ship-captain or
firefighter, might be harassed by male coworkers. The 38 of genders is also seen in the English
language. Common words such as policeman, fireman and nanny suggest that jobs must be done by a
certain sex. 39 , more women are being elected in government, and more men are choosing to be
stay-at-home dads. We should all fight to 40 these barriers so that our children can grow up to
be whatever they want to be.

36. (A) stay away from (B) put up with
(C) other than (D) have in common
(E) compare with

37. (A) held by (B) regarded as  (C) owing to (D) belongs to (E) just like
38. (A) likeness (B) unlikelihood (C) unfair (D) unequal (E) gap
39. (A) Shortly (B) In the past
(C) These Days (D) Instantly
(E) Momentarily
40. (A) work together (B) break down
(C) catch up with (D) bully
(E) demand
I~ RBHARR: HFBEL  EB8- BREFPER (204)
(A)

Proper firearms training is one phase of law enforcement that can not be ignored. No part of the
training of a police officer is more important or more valuable. The officer’s life, and often the lives of
his or her fellow officers, depend directly upon skill with the weapon he or she is carrying. Proficiency
with the revolver is not attained exclusively by the volume of ammunition used and the number of hours
spent on the firing line. Supervised practice and the use of training aids and techniques help make the
shooter. It is essential to have a good firing range where new officers are trained and older personnel
practice in scheduled firearms sessions. The fundamental points to be stressed are grip, stance, breathing,
sight alignment, and trigger squeeze. Coordination of thought, vision, and motion must be achieved
before the officer gains confidence in shooting ability. Attaining this ability will make the student a
better officer and enhance his or her value to the force.

41. According to the passage, proper training in the use of firearms is one aspect of law enforcement
that must be given serious consideration mainly because it is
(A) the most useful and essential factor in the training of a police officer
(B) the one phase of police officer training which stresses mental and physical coordination
(C) the costliest aspect of police officer training
(D) the most difficult part of police officer training
(E) the optional part of police officer training

42. A police officer will gain confidence in his or her shooting ability only after having
(A) spent the required number of hours on the firing line
(B) been given sufficient supervised practice
(C) learned the five fundamental points
(D) learned to coordinate revolver movement with sight and thought
(E) finished his/her studies in a police academy




43. According to the passage, which of the following is NOT included as the fundamental points of
firearms training?
(A) position
(B) a good holding
(C) the focusing of hearing
(D) an adjustment for seeing focus
(E) a stable and smooth respiration

44. What does the phrase “firing range” in line 6 mean?
(A) the length of firing (B) the scope of firing
(C) the space of firing (D) the arrangement of firing
(E) the place of practicing firing

45. What is probably the best title of the passage?
(A) The expenditure of firearms training for a police officer
(B) The importance of firearms training for a police officer
(C) How to gain the shooting ability for a police officer
(D) How to be a good police officer
(E) The fundamental points of firearms training

(B)

The public often believes that the main job of a uniformed officer is to enforce laws simply by
arresting people. In reality, however, many of the situations that an officer deals with do not call for the
use of the power of arrest. In the first place, an officer spends much of his or her time preventing crimes
from happening, by spotting potential violations or suspicious behavior and taking action to prevent
illegal acts. In the second place, many of the situations in which officers are called on for assistance
involve elements like personal disputes, husband-wife quarrels, noisy juveniles, or emotionally
disturbed persons. The majority of these problems do not result in arrests and convictions, and often
they do not even involve illegal behavior. In the third place, even in situations where there seems to be
good reason to make an arrest, an officer may have to exercise very good judgment. There are times
when making an arrest too soon could touch off a riot, or could result in the detention of a minor
offender while major offenders escaped, or could cut short the gathering of necessary on-the-scene
evidence.

46. The passage implies that most citizens
(A) will start to riot if they see an arrest being made
(B) appreciate the work that law enforcement officers do
(C) never call for assistance unless they are involved in a personal argument or a husband-wife

quarrel
(D) do not realize that making arrests is only a small part of law enforcement
(E) believe they can get the police assistance promptly

47. According to the passage, one way in which police officers can prevent crimes from happening is
by
(A) arresting suspicious guys
(B) taking action on potential violations

(C) letting minor offenders go free
(D) refusing to get involved in husband-wife fights
(E) calling for back-ups



48. The word “juveniles” in line 6 1s mostly like :
(A) drivers (B) neighbors

(C) bystanders (D) pedestrians
(E) youth

49. The last sentence in the passage mentions “detention of minor offenders.” Of the following, which
best explains the meaning of the word “detention” as used here?
(A) sentencing someone
(B) indicting someone
(C) calling someone before a court hearing
(D) questioning someone
(E) arresting someone

50. According to the passage, which of the following is NOT included in the possible happenings when
making an arrest too promptly?
(A) a mobbish gathering
(B) a runaway of prime violators
(C) a costly and time-consuming investigation
(D) an imprisonment of secondary violators
(E) an interruption of collecting evidence
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1. Alotof money was circulating in the market. The police warned shopkeepers to look out
for forged notes.
(A) made (B) counterfeit (C) exclusive (D) nouveau (E) contaminated
2. Two firefighters were injured because of smoke
(A) inundation (B) exhibition
(C) inhalation (D) exploitation
(E) deluge
3. Tipped off by a police in Thailand, drug agents traced a shipment of teakwood
furniture across the Pacific Ocean.
(A) guerrilla (B) vanguard (C) informant (D) prophet (E) complainant
4. Immigration officers said that they are ready to those detainees back to their home
country.
(A) extract (B) report (C) repatriate (D) reserve (E) sanction
5. Some misdemeanors are punishable by paying a :
(A) patrol (B) fine (C) radar (D) car (E) trip
6. An act of deliberately damaging or destroying things, especially public property is called
(A) ventilation (B) vandalism (C) vocation (D) vocalism (E) vacation
7. An order to remain at home for a certain period of time is called arrest.
(A) house (B) home (C) family (D) restricted (E) open
8. ETC allows the traffic on freeways paying without stopping. What does it stands for?
(A) Electronic Traffic Control
(B) Engineering Traffic Control
(C) Electronic Toll Collection
(D) Engineering Toll Collection
(E) Electric Toll Control
9. Police lineup is the identification procedure to determine whether the suspect is the of
the crime.
(A) abettor (B) perpetrator (C) pickpocket (D) plaintiff (E) betrayer
10. According to the FBI, identity theft is the number one committed on the Internet.
(A) piracy (B) larceny (C) forgery (D) theft (E) fraud
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11. Police: What happened?

Pedestrian: As | came around the corner, | saw the robbers running down the street.
Police: Did you get
(A) the look on their faces?
(B) a look on their faces?
(C) to look in their faces?
(D) a look at their faces?
(E) a look of their faces?

12. Police: This is a one way street, sir. You have driven the wrong way down a one-way street.
Driver: Oh, I’'m sorry. I didn’t know that!
Police:
(A) Will you tell me the truth?
(B) You can say that again. How could you be so reckless?
(C) Didn’t you see any traffic lights?
(D) Didn’t you see the no-entry sign?
(E) How come you did this!

13. Officer Chen: Justin, let’s go jogging after work,
Officer Lin (Justin): We can’t unless we finish our report.

(A) shall we? (B) can we?
(C) may you? (D) will you?
(E) may we?

14. Foreigner: Why did you pull me over?
Police:
(A) I am glad to hear that.
(B) We are conducting a routine roadside check.
(C) I don’t feel like staying here.
(D) Everything is going to be okay.
(E) What is the question?

15. The supermarket caught on fire this morning.
(A) Really? What did she say? (B) Was anybody hurt?
(C) What about going for a ride? (D) How do you like the class?
(E) Any message for me?

16. Will you take a check?
(A) I’'m afraid we accept cash only.
(B) No problem. I’ll check this for you.
(C) O.K. What’s wrong with the check?
(D) Fine, I’ll take a rain check.
(E) But there seems to be something wrong with the bill.

17. Each year the world gets smaller and smaller.
(A) Have you confirmed it yet?
(B) So would I, if I got the chance.
(C) The Internet has a lot to do with it.
(D) Climate change is an issue.
(E) It’s no wonder it takes so long to fly to Africa.
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These days, kids have tough time concentrating on anything.
(A) It was a difficult test after all.

(B) I can help you focus that camera.

(C) Except for computer games and toys.

(D) The school holiday is too long.

(E) Children grow up very fast.

| heard that you were sick.

(A) Yes, I’ll be gone for a week. (B) Yeah, but mine is more fashionable.
(C) Neither did I. (D) Yes, it will probably rain.

(E) Yes, I had a cold.

If you find a thousand dollars lining on the sidewalk, what would you do?
(A) Are you sure you dropped it on the sidewalk?

(B) I told you it was mine.

(C) I thought I gave it back to you already.

(D) A police called me.

(E) I’d probably buy myself something nice with it.

ek FRBML  E8- RREE SR (204)

The fugitive was sentenced five-year imprisonment.

(A) with (B) at (©) to (D) by (E) on

A man was caught a candy bar in the convenience store by police. He claimed to have
paid for it but was unable to show any proof.

(A) stolen (B) stealing (C) steal (D) stole (E) to steal
Lewis decided to study in the police academy he could safeguard people’s lives.
(A) if (B) in order to

(C) until (D) so that

(E) thus

The policeman impounded her car because she drove a(n) car.

(A) leased (B) license (C) licensed (D) unleased (E) unlicensed
Peter is vacation in Japan now.

(A) for (B) in (C) on (D) at (E) with
The news about Tessa very interesting.

(A) dose (B) do (C) are (D) is (E) have
Betty is sad because she did on her last test.

(A) poor (B) poorer (C) poorest (D) peaty (E) poorly
Jack can eat twenty hotdogs two minutes. Can you believe it?

(A) about (B) in (C)to (D) from (E) with
According to the police investigation, this accident the driver’s carelessness.
(A) arose from (B) resulted in

(C) originated (D) due to

(E) brought about

A dog is different a cat, but they are both good pets.

(A) from (B) with (C)in (D) for (E) to
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Coping with situations like out-of-control crowds, high speed chases, armed standoffs and hostage
dramas can be a dangerous process for police, suspects, and bystanders 31 . To reduce the risk,
researchers are trying to create and improve weapons that can be used without deadly force.

32 by paintball battles, researchers realized the same types of guns that fire paint could fire
pepper spray. The guns help officers keep their distance and avoid accidental 33 the chemical or
poisonous substance.

Another option under development is the liquid stun gun, which combines the concept of the water
cannon with electric gun technology. It fires a high-pressure saline solution and is electrified with 9-volt
batteries. And specifically, the liquid stun gun doesn't need reloading. Such weapons are generally
considered safe, although there's a slight chance that they could prove 34 to those wearing
pacemakers.

All of these new, non-lethal weapons are still in the testing and development phases. But researchers
say the products will soon be available to help law enforcement agencies deal with potentially

dangerous situations without unnecessarily 35 lives.

31. (A) likely (B) alike (C) the same (D) in addition (E) mostly

32. (A) Inspiring  (B) Inspired (C) To inspire (D) For inspiring  (E) With inspiring
33. (A) contact (B) contact with (C) contact of (D) contact in (E) contact to

34. (A) of fatal (B) to fatal (C) fatally (D) fatal (E) fatality

35. (A) endanger  (B) endanger to (C) endanger of (D) endangering of (E) endangering

36. | am looking graduating in May.

(A) upto (B) into (C) unto (D) forward to (E) so as to
37. The phone line is engaged. What does it mean?

(A) We got into an argument. (B) The phone line is busy.

(C) The phone went to voicemail. (D) The phone hung up on me.

(E) The phone didn’t go through.
38. There was a blackout last night; , We had to study by candle light.

(A) nevertheless (B) therefore

(C) similarly (D) sincerely

(E) furthermore

Mistaken eyewitness identification is the major cause of 39 innocent people. This is not to
say that witnesses are insincere._ 40, normal functions of the human mind tend to distort memories.
Memory can be broken into three stages: acquisition, storage, and retrieval. During every stage, people
may make errors. At the acquisition stage, memories are colored by witness anxiety, duration of the
event, and complexity of the event. Additionally , humans cannot possibly perceive everything that is
going on around them. During storage, memory may be altered by intervening events or information.
Even at the stage of retrieval, a witness may make certain claims, despite his or her uncertainty.

39. (A) to convict (B) conviction with
(C) conviction of (D) convict
(E) conviction to

40. (A) Rather (B) As a result (C) Only if (D) Furthermore (E) Unless
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Children who are abused or neglected are far more likely to become criminals as adults, according
to a study released by an organization of police chiefs, prosecutors, psychologists and crime victims.
The report by Fight Crime: Invest in Kids recommends more money for pre-kindergarten programs and
parenting classes, saying the cost will be offset later when children who might have been burdens on
society grow up to be upstanding citizens. “Children who survive abuse and neglect can be significantly
injured,” said one of the report's authors, Dr. Randell Alexander. “Many go on to hurt others. If you are
born into a world of violence, you wire yourself for violence, not for peace.”

Using various governmental data and academic and advocacy group studies, researchers said child
abuse and neglect is vastly underreported. The 900,000 cases reported annually by the Health and
Human Services Department may be only one-third of the actual total, the report said. The report cited a
study published by Dr. Cathy Spatz Widom, a professor of criminal justice and psychology at the State
University of New York at Albany, found that individuals who had been abused or neglected as
youngsters were 29 percent more likely to become violent criminals than other children. Using that
estimate, researchers said 36,000 children will become violent criminals when they reach adulthood,
including 250 who will become murders.

The report's authors include four local prosecutors and two sheriffs. They said the findings illustrate
the need for more governmental funds for pre-kindergarten programs and parenting classes for families
considered high-risk for child abuse, primarily those on welfare or headed by high school dropouts.

41. The people who participated in this study did NOT include
(A) police officers
(B) government officials
(C) crime victims
(D) scholars
(E) social workers

42. According to Dr. Randell Alexander,
(A) children who survive abuse usually grow up to be upstandmg citizens
(B) the cost for pre-kindergarten programs will not be balanced later
(C) people may fall victim to children who have been abused and neglected
(D) those who are born into a world of violence will surely be burdens on society
(E) children who survive abuse and neglect can be significantly upright

43. The word “offset” in line 4 is mostly like :
(A) initiated (B) set up (C) surpassed (D) compensated  (E) shortened

44. Based on the report by Fight Crime: Invest in Kids, the actual total of child abuse and neglect every
year may be cases.
(A) 30,000 (B) 36,000 (C) 261,000 (D) 900, 000 (E) 2,700,000

45. The report by Fight Crime: Invest in Kids

(A) illustrated the need for strict enforcement of the law against child abuse and neglect

(B) supported the idea that more money should be spent on parenting classes for families receiving
aid from the government

(C) found children who had been abused or neglected were 29 percent more likely to become
violent criminals than other children

(D) were questioned by the Health and Human Services Department, an organization in charge of
preventing child abuse

(E) was co-authored by eight people




Most of us have heard of the polygraph test, more commonly known as a lie-detector test. In this
test, the detectors record a person’s physiological reactions to certain questions. That is, a pair of plates
that can sense and measure subtle increases in sweating is attached to a person’s fingers, while at the
same time other devices monitor increases in blood pressure and pulse rate as well as breathing depth. In
administering the test, examiners usually ask neutral questions such as birth dates and addresses in order
to compare these responses with those from emotionally charged questions. While the polygraph is the
most common and long used measure, factors such as hunger or alcohol use can cause misleading
polygraph results. Minor self-inflicted pain during the test can also result in false positives.

Another technology, the electroencephalograph (ECG), is also used to detect lies, but in quite a
different way. As it turns out, one particular brain wave, which researchers have isolated and can graph,
surges whenever we see something we recognize. It’s impossible for any person to voluntarily suppress
this surge. So, when a crime suspect wearing a special headband hooked up to an ECG machine is
shown images or words connected with the crime and the brain wave suddenly spikes, the suspect’s
brain is essentially shouting, I’'m guilty!

Moreover, a newer form of lie detector is far simpler than any other technology, aside from simply
observing body language. People cannot help hesitating ever so briefly just before telling a lie. With
modern computer technology, we can now detect and measure the briefest such pauses, which tell us
when someone is lying.

46. Which of the following would be the most appropriate title for the passage?
(A) How to Cheat on a Lie Detector Test
(B) Do Polygraph Tests Always Reveal Lies?
(C) In Search of the Perfect Lie Detector
(D) The Technology of Crime Investigation
(E) Pathology Tests vs. ECG Tests

47. The word “those” in line 6 refers to :
(A) responses (B) questions  (C) addresses (D) birthdates  (E) examiners

48. According to the passage, physiological reactions include all of the following EXCEPT
(A) breathing movements
(B) posture differences
(C) blood-pressure changes
(D) heartbeats
(E) sweating

49. The passage indicates that whenever we see something we recognize, a brain wave
(A) suddenly rises up higher than it was
(B) suddenly falls down
(C) suddenly slows down
(D) suddenly shouts out
(E) suddenly disappears

50. According to the author,
(A) lies are always detected by the polygraph
(B) all physiological reactions indicate lying
(C) a liar will often pause, even if just for a moment
(D) observing the body movements can’t help to tell if a person is lying
(E) the briefest pauses of a person cannot be detected and measured
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1. Simpson committed a crime. He is a :
(A) criminal (B) criminal investigator
(C) criminal psychologist (D) criminal lawyer
(E) criminalist
2. Keep your seat belt . The driver and all passengers in the vehicle must fasten a seat belt.
(A) fasten (B) fastened
(C) to fasten (D) fastening
(E) from fastening
3. At trial, the witness that he'd seen two people leave the building on the night of the
murder.
(A) tested (B) codified (C) testified (D) simplified (E) classified
4. Police announced today that the murder suspect was apprehended at his home. So, the murder
suspect has been :
(A) released (B) arrested (C) prosecuted (D) convicted (E) extradited
5. “The fire has been brought control,” a firefighter said.
(A) into (B) under (C) about (D) above (E) on
6. The street protest turned into . Protesters blocked the traffic and even attacked the police.
(A) riot (B) risk (C) rise (D) rush (E) ruin
7. The traffic accident happened around 7 p.m. last night, and luckily all passengers the crash.
No one got hurt.
(A) suspended (B) suspected (C) succeeded (D) secured (E) survived
8. Officers obtained an arrest warrant, but the suspect the arrest and refused to open the door.
(A) assisted (B) consisted (C) insisted (D) resisted (E) persisted
9. Ifjurors find a defendant , then that person must be punished.
(A) innocent (B) transnational
(C) guilty (D) cooperative
(E) systematic
10. Paying an official to do something illegal is

(A) alibi (B) bandit
(C) manslaughter (D) bribery
(E) theft
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11. The traffic accident happened right in front of me.
(A) There is nowhere to hide.
(B) When did the snow stop falling?
(C) When did you get our haircut?
(D) The police is chasing the suspect.
(E) Was anyone seriously injured?

12. Are your colleagues at Da-an Precinct willing to stand by you?
(A) I can take you to your destination.
(B) Yes, it was hard to stand up.
(C) Yes, they will support me all the way.
(D) You should always stand by on the side.
(E) No, they are standing up for me.

13. How many people work at your police station?
(A) I love your stationary. (B) Ten people working on the committee.
(C) No seriously harm at the station. (D) There are twenty people in the station.
(E) There are five people assigning to the house.

14. What’s the fastest way to get to a police station?
(A) It is not in that direction. (B) I think the best team will win.
(C) I can read to you. (D) Maybe taking the bus.
(E) We’re going tomorrow.

15. Can you take a look at this report for me?
(A) I’ll do it later on this afternoon. (B) I will look after my little brother.
(C) The reporter is from the newspaper. (D) I'm handling the problem.
(E) You look very healthy to me.

16. When will you depart?
(A) I’'m planning a party soon. (B) She is my dancing partner.
(C) We can get going on it next month, (D) I will be back soon.
(E) 1 will be leaving in a few hours.

17. Traffic officer: Do you know why | pulled you over?

Driver:
(A) I’'m going to have to write you a ticket. (B) I have no idea.
(C) I’'m just doing my job. (D) I didn’t know about the date.

(E) I’'m not going to be able to do that.

18. Dispatcher: This is Officer Raymond, How may | help you.
Caller: Sir, my husband got drunk and beat me up. I am scared and | need help.
Dispatcher: Okay, where is your emergency?
Caller: # 1219 College St.
Dispatcher: | have a patrol officer around your location. He is on the way. | need you to stay on the
line with me, okay?

Caller: Okay.

Question: The caller was calling to report an alleged

(A) gang violence (B) spousal rape

(C) sexual abuse (D) domestic violence

(E) school-bullying
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Detective: Albert, you said you saw the robber. We think we have the man who did it. We'd like
you to take a look and see if you can identify this guy.

Albert: Sure. | would never forget his face.

Question: According to the conversation, Albert is a/an
(A) suspect (B) conspirator
(C) informant (D) lawyer

(E) eyewitness

Raymond: I heard that Jason has been put behind bars again.
Sherlock: Well, that’s true.
(A) Jason likes the bar around the corner.

(B) Jason passed the bar exam, and will be a lawyer soon.
(C) He has been prohibited from drinking at the bar.
(D) Jason committed crimes again and was arrested.
(E) Jason decided to work for the bar again.
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Police have identified the victim 66-year-old Karen Smith.

(A) as (B) of (C) for (D) with (E) at

The suspected drug dealer killed the victim. He was charged murder.

(A)in (B) to (C) with (D) from (E) against
Luckily the police arrived to catch the robbers, and the situation didn't end up worse.
(A) sometimes (B) over time

(C) intime (D) on time

(E) at times

Police response times to serious crimes were last year than previous years.

(A) fast (B) more fast

(C) faster (D) much fast

(E) the fastest

Mary Johnson is for armed robbery. Johnson robbed a bank in New York and fled with
US$2,000,000.

(A) want (B) wanted (C) wants (D) wantly (E) wanting

The minor disappeared at a carnival in Montgomery Park. His parents reported him an
hour ago.

(A) miss (B) missed (C) misses (D) missly (E) missing

He has twice been convicted robbery.

(A) from (B) between (C) of (D) with (E) in

The police arrested her drinking and driving.

(A) between (B) in (C) for (D) up (E) to

You will be remanded custody until your trial.

(A) about (B) in (C) of (D) to (E) under

The judge sentenced the murderer life imprisonment.

(A)in (B) on (C) over (D) under (E) to
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The body of a 30-year-old man was found late last night outside a night club. The man was
31 as Henry Stevenson of Boston, MA. Police have not found a 32 weapon, and
the body was apparently not discovered for several hours. “The corpse is in the morgue, and we will be
33 a detailed autopsy later today,” said John Thomason, Los Angeles County Coroner. “At
this point, I can’t tell you the exact 34 of death, but | can say that the victim had multiple
stab wounds.” Police say the 35 for this homicide is unclear and that they are waiting for
the coroner’s report.

31. (A) processed (B) represented  (C) existed (D) identified (E) established
32. (A) murder (B) suicide (C) kill (D) cutting (E) knife
33. (A) investigating (B) conducting (C) searching (D) informing (E) claiming

34. (A) make (B) outline (C) range (D) format (E) cause
35. (A) address (B) need (C) motive (D) consent (E) contact
Identify theft is a growing concern, but it’s not 36 . The following is a list of

preventative 37 that may save you from being another victim.

1. If possible, leave your debit card at home and use credit instead. It is more difficult to resolve

38 purchases made with debit than credit.
2. If you do decide to use debit, be aware of your 39 when using an ATM.
3. Carry your valuables in a travel pouch. Travel pouches should be worn 40 your

clothing for added security.

36. (A) unaccountable (B) unavoidable (C) unacceptable (D) unambiguous (E) unappealing

37. (A) enhancements (B) synergies (C) measures (D) productions  (E) combinations
38. (A) fraudulent (B) national (C) administrative (D) considerable (E) residential
39. (A) frontier (B) border (C) nationality (D) surrounding  (E) forthcoming
40. (A) top (B) bottom (C) with (D) beside (E) beneath
You have the right to remain silent. If you do say anything, 41 you say can be used

42 you in a court of law. You have the right to 43 a lawyer and have that lawyer
present during any questioning. If you cannot 44 a lawyer, one will be appointed for you if
you so desire. If you choose to talk to the police officer, you have the right to stop the 45 at
any time.
41. (A) that (B) what (C) which (D) why (E) where
42. (A) for (B) at (C) to (D) against (E) by

43. (A) consult with  (B) deal with (C) comply with (D) conspire with (E) keep up with
44. (A) offer (B) ask (C) afford (D) catch (E) bring

45. (A) confrontation (B) examination (C) prosecution (D) questionnaire (E) interview
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Ecstasy has been the drug of choice among many clubbers for more than a decade. They think
it’s fun, they think it’s safe, but now there’s worrying new evidence that the ecstasy craze may have
created an entire generation of people that are more vulnerable to brain disorders. New research shows
that ecstasy damaged brain cells that are important for movement, so-called dopamine receptors. A study
was done by examining monkeys’ brain activities after giving the dance drug ecstasy. Monkeys were
given a dosage of three tablets over nine hours. A normal brain is full of dopamine, but after the animals
were given ecstasy, most of the dopamine receptors stopped working. It can damage brain dopamine
neurons and may render the user more susceptible to developing Parkinsonism as they grow older.

46. How long has ecstasy been the favorite drug among clubbers?
(A) under ten years (B) about five years
(C) more than ten years (D) about ten years
(E) more than twenty years

47. Why do the clubbers like taking dance drug ecstasy?
(A) It makes them have a good time.
(B) It makes them stop worrying.
(C) It makes them laugh.
(D) It makes them fell worried.
(E) 1t makes them love everyone around them.

48. What link does the research make between taking ecstasy and brain disorders?
(A) People are scared of getting brain disorders.
(B) People are more likely to get brain disorders.
(C) A generation of people have already got brain disorders.
(D) People have already been treating for brain disorders.
(E) People are convinced that they have brain disorders.

49. How can ecstasy affect movement?
(A) by helping dopamine receptors
(B) by creating dopamine receptors
(C) by increasing dopamine receptors
(D) by damaging brain cells
(E) by moving brain cells

50. Which of the following would be the best statement for the passage?

(A) Ecstasy used to be a popular drug among clubbers but many have stopped taking it after some
negative research results.

(B) Ecstasy is an indifferent drug among clubbers and many young people are determined to take it
despite the risks.

(C) Scientists still have to decide if ecstasy can negatively affect other parts of the body as well as
the brain.

(D) Research suggests that ecstasy can negatively affect the brain; however, scientists still say that
more research needs to be done.

(E) Research suggests that ecstasy can negatively affect the brain and make people more likely to
get diseases in later life.
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1. Anyone who committed a homicide shall be punished in accordance with the Code.
(A) Civil (B) Penal (C) Financial (D) Administrative
2. At trial, the judge decided to dismiss the complaint and the defendant.
(A) discharge (B) disorder (C) dismember (D) dispatch
3. The in charge of the jail said that two inmates broke out of the jail last night. They
are now working with the police to find out the whereabouts of the two inmates.
(A) coroner (B) warden (C) plaintiff (D) juror
4. The drug dealer agreed to against the drug ring leader in exchange for a reduced
penalty.
(A) justify (B) testify (C) certify (D) notify
5. Domestic violence in a household is detrimental to the child.
(A) confidential (B) influential (C) harmful (D) ethical
6. The lawyer filed a motion to the court to release the defendant bail. The judge granted
his motion and set the bail at 1 million dollars.
(A)in (B) on (C) at (D) of

7. “Buckle up. It’s the law. You may be pulled over if you are not properly buckled up,” highway patrol
officer said. Highway patrol officer is asking drivers to

(A) fasten seat belt (B) speed up
(C) keep a safe distance (D) avoid tailgating
8. The murderer was gunned down in the shootout by the police. He was pronounced on
scene.
(A) to die (B) dead (C) deadly (D) died

9. The drug dealer was busted during a SWAT raid. He was found in possession of 2 kilos of heroin,
authorities said Wednesday.
(A) arrested (B) shot (C) accused (D) coerced




10.The defense attorney filed a motion to suppress the DNA evidence, claiming that the evidence had
been contaminated due to improper chain of custody.
(A) retained (B) tainted (C) sustained (D) contained

Qs11-20 BRI HFiHpEL > EB- BEFFhE S -

DNA is a powerful investigative tool because no two people have the same DNA. The only
exception scientists have found to this is identical twins. The sequence, or order, of the DNA building
blocks is different in particular regions of the cell, making each person’s DNA unique. Because of this,
DNA evidence collected at the scene of a crime can link a suspect to the crime or can eliminate someone
from suspicion. DNA is similar to fingerprints, but has been considered more accurate for the past
decade. DNA can also link evidence to a victim by using DNA of relatives if the victim’s body cannot
be found. For example, if technicians have a biological sample from the victim, such as a bloodstain
found at the crime scene, the DNA taken from that bloodstain can be compared with DNA from the
victim’s biological relatives to determine whether the bloodstain came from that particular victim. When
a DNA profile developed from evidence at one crime scene is compared with a DNA profile developed
from evidence found at another crime scene, the crimes can be linked to each other or to the same
suspect, making it possible to link crimes committed at a distance from one another.

Although many forensic scientists had begun to think of DNA as a miracle identifier, in 20009,
scientists for the first time found that it was possible to fabricate DNA evidence from a person other
than the donor of the blood or the saliva. This means that someone could plant another person’s DNA at
a crime scene, causing the person whose DNA was found to be considered a prime suspect in a case.
While this does not mean that DNA evidence will no longer be important, it reinforces that solving
crimes must continue to rely on more than science to find a guilty party.

11. What is the primary purpose of this passage?
(A) to show that DNA is a powerful investigative tool
(B) to illustrate how the unique characteristics of DNA make different types of comparisons and
eliminations possible
(C) to teach the reader that identical twins have the same DNA
(D) to show how laboratory technicians develop DNA profiles

12. All of the following are true EXCEPT
(A) everyone, except for identical twins, has different DNA.
(B) the sequence of DNA building blocks is the same in particular regions of the cell, making
comparisons possible.
(C) DNA can be used for comparisons or eliminations of offenders from different regions.
(D) DNA from relatives can be used to identify victims,

13. According to the passage, DNA should be collected from a crime scene because
(A) it is better than fingerprints.
(B) there is DNA left at every crime scene.
(C) it can be used to eliminate potential suspects.
(D) DNA is a new investigative tool.



14. Which of the following conclusions can be drawn from the passage?
(A) DNA can be collected from sources other than blood.
(B) DNA can be collected only from bloodstains.
(C) DNA cannot be collected from bloodstains.
(D) DNA can connect crime scenes only if it is taken from bloodstains.

15. The recent scientific finding that DNA evidence can be fabricated is most likely to result in
(A) discontinuing any efforts to collect DNA at a crime scene.
(B) the field of forensic science losing its current popularity.
(C) the end of innocent people being freed from prison on the basis of DNA evidence.
(D) renewed efforts to find evidence other than DNA at crime scenes.

Many people confuse education and training, but they are not the same thing. Education is
knowledge-based and is defined as a body of academic knowledge that is most often learned in a
classroom setting. Training is coaching to become proficient in particular behaviors or actions.
Sometimes the two are confused because many training experiences, like a police academy, often
involve many hours of classroom instruction. Such institutions combine elements of education and
training, but the differences between the two remain. Knowledge is theoretical. Using a law enforcement
example, you can study the laws of arrest without ever having to arrest anyone, but you need to be
trained in handcuffing techniques if you will be expected to actually take someone into custody.
Similarly, you can study laws and court cases pertaining to deadly physical force without ever having to
fire a weapon. Training, on the other hand, is skills-based. It covers what you need to do, as much as
what you need to know, in order to perform a task or group of tasks. Learning when or why is not the
same as learning how.

16. The best title for this passage would be
(A) When or Why Is Not the Same As How.
(B) Education versus Training.
(C) The Benefits of Studying Case Law.
(D) The Importance of Handcuffing Techniques.

17. The main idea of the passage is that
(A) education and training are different.
(B) education and training are the same.
(C) people often confuse education and training.
(D) training is ineffective without the foundation of education.

18. Based on the passage, the activity most likely to be defined as training is
(A) studying for a graduate school entrance exam.
(B) learning the firearms laws.
(C) learning how to fire a shotgun.
(D) learning a foreign language.



19. Based on the passage, the activity most likely to be defined as education is

(A) learning how to drive. (B) learning the firearms laws.
(C) learning handcuffing techniques. (D) studying for the police entrance exam.

20. The word coaching in line 3 of the passage is closest in meaning to
(A) escorting (B) accompanying
(C) acting (D) guiding and drilling

S FEERW I (FHE3IL X 604)

21. Only one of the thieves who robbed the jewelry store was caught since his got away.
(A) accomplice (B) adversary
(C) cohort (D) associate
(E) foe
22. The violent offender was convicted of for using a baseball bat to strike his victim.
(A) voltage (B) battery
(C) assault (D) arson
(E) flattery
23. After the riot broke out, officers had to use proper measures to the angry crowd.
(A) instigate (B) incite
(C) calm (D) impel
(E) quell
24. Drunk drivers pose a serious to others.
(A) subsidy (B) threat
(C) shield (D) ward
(E) menace
25. Two stowaways were trying to a bus; but fortunately, they failed at last.
(A) hijack (B) jaywalk
(C) take hostage (D) piracy
(E) fraud
26. The future of policing by a number of interrelated factors.
(A) is going to determine (B) will determine
(C) will be determine (D) will be determined
(E) is going to be determined
217, , Officer Huang is brave.
(A) In spite of being a woman (B) In spite of she is a woman
(C) Woman as she is (D) Despite being a woman
(E) Though a woman is
28. Take an umbrella when you go to Keelung, for it rains there.
(A) most of the time (B) frequently
(C) most of times (D) as frequent

(E) much time



29.Select the sentences that are written clearly and grammatically correctly.
(A) Having finished the police report, Officer Chang closed the case.
(B) Having finished the police report, the case was closed.
(C) Officer Chang closed the case after he had finished the police report.
(D) As soon as the police report been finished, the case was closed.
(E) No sooner than the case was closed, Officer Chang had finished the police report.

30. Select the sentences that are written clearly and grammatically correctly.
(A) Of all the dogs in the K-9 Corps, Zelda is the most bravest.
(B) In the K-9 Corps, Zelda is braver than other dogs.
(C) Of all the dogs in the K-9 Corps, Zelda is the braver.
(D) In the K-9 Corps, Zelda is the more brave dog.
(E) Of all the dogs in the K-9 Corps, Zelda is the bravest.

31.The defendant was sentenced to five years in prison. He will be and serve the jail
term.
(A) interrogated (B) incarcerated
(C) imprisoned (D) put out
(E) put behind bars
32.According the the statistics, many sexual abuse cases are by offenders known to
the victims.
(A) located (B) permitted
(C) committed (D) perpetrated
(E) offered
33.Police are the death of the gang member and urge people to tip off police about
the crime.
(A) probing into (B) looking into
(C) investigating (D) looking forward to
(E) breaking into
34.The suspect decided to the police when he found it impossible to escape.
(A) turn himself in to (B) surrender himself to
(C) giverise to (D) get away with
(E) hand himself in to
35. Drivers should always the pedestrians at intersection.
(A) look into (B) look out for
(C) watch out for (D) catch up with
(E) run away with
36. Patrol officers saw the crime of hit and run and immediately started the vehicle.
(A) pursuing (B) chasing
(C) evading (D) running after
(E) looking after
37.Police said the fugitive to the United States to avoid prosecution. His whereabouts is
unknown.
(A) had fled (B) had absconded
(C) had escorted (D) had escaped

(E) had revealed



38.Any patrol officer on duty who sees the crime in progress can pursue the suspect and

Into custody.

(A) try (B) leave
(C) place (D) find
(E) take

39.Firefighters arrived quickly and within 10 minutes.
(A) brought the fire under control (B) put up with the fire
(C) put out the fire (D) distinguished the fire

(E) extinguished the fire

40.Choose incorrect and illegal driving behaviors from the following descriptions:
(A) to leave a child unattended in the vehicle
(B) to always drive on a sidewalk
(C) to exercise due care by keeping a safe distance
(D) to respect the right of way
(E) to use high occupancy vehicle (HOV) lane whenever you are in a hurry

him
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1.A captain who killed his crewmen on the ship was sent back to Taiwan for
(A) jury

(B) trial (C) trace (D) attack
2.Many people in Taiwan believe that capital punishment can crime.
(A) deter (B) perpetrate (C) confiscate (D) decay

Illicit or contraband materials such as weapons or drugs found in a public place may be seized by the
police without a :

(A) power of attorney (B) waiver
(C) warrant

(D) subpoena

4.Tony threatens Peter by saying, “Give me $5,000, or I will cut off your fingers next week.” What
crime has Tony committed under criminal law?
(A) Burglary (B) Extortion (C) Robbery

5.The police department made a statement apologizing for its officers
(A) cautiousness (B) courtesy

(D) Homicide

(C) discreetness (D) misdeeds
6.John intentionally burns Mike’s house. What crime has John committed under criminal law?
(A) Larceny (B) Arson (C) Embezzlement (D) Perjury

7.When visiting any website, you had better not give away your
(A) confiscated

information easily.
(B) confidential (C) counterfeit (D) consecutive
8.She cheated people out of their money time after time and can be called a through and
through.
(A) swindler (B) defendant (C) cohort

(D) heroine
9.Jane’s childhood was overshadowed by her mother’s

in a woman’s prison.
(A) importation (B) incarceration (D) indictment

10.Making people believe that they are buying a product, then accepting payment but not providing a
product is :
(A) robbery (B) theft

(C) inadmissibility

(C) forgery (D) fraud
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The police engage in too many high-speed chases, many of which are unnecessary. A(n) 11 is
more 12 to occur when people drive too fast. Officers should 13  the severity of a
suspect’s violation before a pursuit. 14 criminals should not be chased if it posesa 15 to
others.

11.(A) traffic (B) operation (C) condition (D) accident
12.(A) reasoning (B) reckless (©) likely (D) appropriate
13.(A) assume (B) assess (C) arrest (D) appear
14.(A) Non-violent (B) Excessive (C) Violent (D) Discontinued
15.(A) safety (B) risk (C) nature (D) warrant

16-20 B 3% P15 ;‘ﬁ—fﬂ:}%ﬁ{i  EB- BREEES o

It is not always understood that the term physical evidence embraces any and all objects, living or
inanimate. A knife, gun, signature, or burglar tool is immediately recognized as physical evidence. Less
often is it considered that dust, microscopic fragments of all types, even an odor, may equally be
physical evidence and often the most important of all. It is well established that the most useful types of
physical evidence are generally microscopic in dimensions, that is, not noticeable by the eye and,
therefore, most likely to be overlooked by the criminal and by the investigator. For this reason,
microscopic evidence persists for months or years after all other evidence has been removed and found
inconclusive. Naturally, there are limitations to the time of collecting microscopic evidence as it may be
lost or decayed. The exercise of judgment as to the possibility or profit of delayed action in collecting
the evidence is a field in which the expert investigator should judge.

16.The one of the following which the above passage does NOT consider to be physical evidence is a
(A) criminal thought (B) minute speck of dust
(C) raw onion smell (D) typewritten note

17.According to the above passage, the rechecking of the scene of a crime
(A) is useless when performed years after the occurrence of the crime
(B) is advisable chiefly in crimes involving physical violence
(C) may turn up microscopic evidence of value
(D) should be delayed if the microscopic evidence is not subject to decay or loss

18.According to the above passage, the criminal investigator should
(A) give most of his attention to weapons used in the commission of the crime
(B) ignore microscopic evidence until a request is received from the laboratory
(C) immediately search for microscopic evidence and ignore the more visible objects
(D) realize that microscopic evidence can be easily overlooked

19.According to the above passage,
(A) a delay in collecting evidence must definitely diminish its value to the investigator
(B) microscopic evidence exists for longer periods of time than other physical evidence
(C) microscopic evidence is generally the most useful type of physical evidence
(D) every evidence is likely to be overlooked by the criminal and by the investigator

20.As used in the passage, the phrase well established most nearly means
(A) well installed (B) well known
(C) well erected (D) well instituted
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21.According to the , levels of crime are at this moment getting lower.
(A) altitudes (B) numbers
(C) collections (D) figures
(E) statistics
22.Hackers were trying to an important document on a computer in obtaining a benefit.
(A) alter (B) misconduct
(C) steal (D) offend
(E) fraud
23.1t is important for everyone, including police officers, to drive
(A) aggressively (B) carefully
(C) safely (D) carelessly
(E) cautiously
24.Most countries require tourists to have a(n) passport to enter or leave.
(A) illegitimate (B) important
(C) eligible (D) valid
(E) legally binding
25.The police caught the tourists who had a suitcase full of objects.
(A) prohibited (B) banned
(C) automatic (D) smuggled
(E) illicit
26.The narcotic detective the man for weapons.
(A) frisked (B) disturbed
(C) patted down (D) searched
(E) put out
27 .\Whenever possible, have someone you when you use ATM at night.
(A) restrain (B) walk with
(C) accompany (D) escort
(E) go to
28.Apps and websites that do not protect their users may be under the new regulation.
(A) handcuffs (B) blocked
(C) spread (D) enclosured
(E) fined
29.Narcotics investigators a drug deal who carried 30 kg of controlled medications.
(A) provided (B) cooperated
(C) interrogated (D) violated
(E) questioned
30.For your own protection, shred documents containing information before discarding.
(A) classified (B) financial
(C) reasonable (D) explosive
(E) vertical



31.I've been twice and all my money was cleared out.

(A) mugged (B) stole
(C) robbed (D) fired
(E) suspended
32.Police officers captured several who tried to make people take part in a demonstration.
(A) protesters (B) hostages
(C) alibi (D) rebels
(E) agitators
33.The drug dealer was found in possession of cocaine and got during a police raid.
(A) distinguished (B) apprehended
(C) arrested (D) forced
(E) busted
34.John was illegal substances at the internet café and got caught.
(A) looking (B) distributing
(C) selling (D) suspecting
(E) manufacturing
35.He was arrested for using ID.
(A) forged (B) fake
(C) treasured (D) counterfeit

(E) sculptured

36.When police officers arrived at the scene of the deadly crash, they learned there had been one

(A) fatality (B) death

(C) celebration (D) attraction
(E) birth
37.0fficer Chang walked 8 miles today. She never guessed that she could walk far.
(A) that (B) this
(C) such (D) as
(E) so
38.0fficer Huang seldom makes a patrol in the morning.
(A) So does Officer Chen. (B) Officer Chen is too.
(C) Officer Chen doesn't too. (D) Nor does Officer Chen.
(E) Officer Chen doesn't either.
39.Though the policeman at the time, he recognized the man as a wanted criminal and
arrested him on the spot.
(A) was of service (B) was out of service
(C) was on duty (D) was off duty
(E) got off work
40.The program deals with drug addiction, juvenile delinquency, and issues gang crimes.
(A) link with (B) relative to
(C) related to (D) associating with
(E) link up to



PAERAF 109 FERFI - EJIENL O FLRRBE

/:‘QQJJ:%,,:“

,f.tg T E

A LA 40T 515 20485 8- EAAT 6 21 1 05 P EERA(Y R 5 AL

I 80KZERT)

2.&—%4&%%@%2@, e BREFF KT NG - BALAN AL G S L

| Mk sEs A éﬁZBfip%ﬁ*JF*%ﬁﬁﬁﬁﬁﬁgiﬁ%@ﬁ
Do FHEFLL20 R A UBEL A FF R A
3zﬁ§ﬁ%:£%3¢»awwu@%W“ﬁ’i*ﬁﬂ%%ﬁﬁﬁﬁﬁgﬁ’%ﬁﬁ

PSS A BRIAFE IR R R L RPREL -
BHYEALEI A FHE - EA Y LB USIEA § FHF - ETX 0 & ol U5 A

i /;_;‘%,%E—ﬁ'%?&\%“

- aAEs ST

— H-ER(FH2A 0 H408)

1. The Coast Guard Administration is responsible for the rescue and emergency Services.
(A) dimension (B) command (C) maritime (D) finance

2. Since their primary practical goal was to reduce crime , police long believed that they were
in the business of crime prevention.
(A) victimization (B) affluent (C) implement (D) affordable

3. With the outbreak of corona virus, how to control this spreading disease has become a major
around the world.

(A)am (B) policing (C) examination (D) concern
4. Two suspects were picked up by the police because their motorcycle’s was captured by a
CCTV camera.
(A) size (B) plate number (C) dealer (D) license
5. For flight safety, explosive items are on the aircraft.
(A) prohibited (B) entrenched (C) evaluated (D) implemented
6. Please step out of the car for a test.
(A) blowing (B) breathtaking (C) breath (D) breathalyzer
7. The police took all the camera footage around the area for the murder case.
(A) innovative (B) chaotic (C) surveillance (D) renewable
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The key to understanding organized crime is to recognize that, like corporations and other
businesses, it exists for a single purpose: to make a profit in a capitalist economy. The key difference
between organized crime and “legitimate” businesses is that organized crime often makes much of its
profit from illicit goods and services, and organized crime is prepared to use illegal means and practices,
including violence, to achieve its profit-making goals. Like legal businesses, organized crime also seeks
to gather and harness political power to assist in the conduct of its business. Once again, however,
organized crime is prepared to pursue that goal, if necessary, through recourse to illegal methods. Actual
violence is rare in organized crime activities, and is usually related to street-level activities. While
violence is bad for business, the potential for violence is often enough to give organized crime networks
a distinct advantage in the marketplace.

8. According to the passage, the author discusses?
(A) illicit enterprise and profit-making
(B) organizational strategy of a legitimate corporation
(C) violent interactions among corporations
(D) organizational structure of organized crime groups

9. Based on the passage, which statement is correct?
(A) There is no difference between organized crime and legal businesses.
(B) Actual violence is usually used by organized crime networks to occupy market.
(C) Political power can help organized crime to pursue illegal profits.
(D) Organized crime will use political power to pursue benefits, but corporation won'’t.

10.0rganized crime often makes much of its profit from?
(A) charity
(B) loan-sharking, gambling and pornography
(C) big data analysis of market
(D) state-run businesses

11.According to the passage, which statement is incorrect?
(A) Making a profit is the purpose for organized crime.
(B) Making a profit is the purpose for legal corporation.
(C) Even violence is not good for business, it is still helpful to organized crime networks.
(D) Organized crime usually attempts to accumulate and use political power, by legal approaches, to
assist in the conduct of its business.

12.The word "advantage" in the last sentence most nearly means?
(A) handicap
(B) hindrance

(C) burden

(D) benefit
13.Jackson was for burglary because he broke into someone’s house.

(A) assaulted (B) arrested (C) violated (D) rioted
14.Without a(n) , you can’t come into my office to search.

(A) warrant (B) citation (C) application (D) evidence

15.As vessels sail close to the coast, mariners can use peculiar targets in land as a landmark to

(A) navigate (B) negotiation (C) neglect (D) newsstand
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There is little doubt that the current wave of globalization has resulted in new 16 flows
and networks, some of which have had criminogenic consequences that have generated new _17
concerns. The 18 of people, money, information, and commodities has provided new
opportunity for criminal activities. Many countries are finding that their 19 to deliver order and
safety is increasingly 20 by global forces.

16.(A) cross-border (B) firecracker (C) expensive (D) enforce
17.(A) intoxication (B) familiarity (C) security (D) alongside
18.(A) assuming (B) comparison (C) undertaking (D) mobility
19.(A) random (B) capacity (C) debate (D) smuggling
20.(A) smuggled (B) undermined (C) arrested (D) economic
S NS EERE (R34 £ 604)
21.Community policing is arguably the single most extended in policing worldwide.
(A) stable (B) paradigm
(C) amuse (D) pattern
(E) model
22.Cooperative structures that the exchange of information between police agencies were first
established at the beginning of the 20th century.
(A) gentle (B) flexible
(C) facilitate (D) enable
(E) promote
23.1t is difficult to prevent all accidents. It is unlikely to be totally natural disasters.
(A) free from (B) immune to
(C) exempt from (D) make from

(E) keep from

24.The National Rescue Command Center shoulders a very important and huge mission in
peoples’ lives and properties.

(A) unwilling (B) overwhelming
(C) expressing (D) safeguarding
(E) protecting
25.Analysis of fingerprints is probably the most use of forensic science.
(A) exclude (B) famous
(C) well known (D) restore
(E) eminent

26.1f the victim’s actions helped the offender commit the crime, then changes in victim behavior should
assist in the crime.
(A) preventing (B) impeding
(C) existing (D) hindering
(E) hampering



27.Domestic violence often high level of police calls-for-service.

(A) generates (B) causes
(C) gives rise to (D) incidents
(E) incidence
28.Arrest remains an important in controlling repeat domestic violence.
(A) distinguish (B) tool
(C) method (D) extinguish
(E) approach

29.Guns in the hands of criminals and juveniles are crime facilitators that are of great
police departments.

(A) worry (B) enjoy
(C) concern (D) anxiety
(E) legal
30.The gangsters were during a police raid in a night club.
(A) busted (B) accused
(C) caught (D) premeditated
(E) apprehended
31.The DNA evidence was because of improper handling process.
(A) suspended (B) destroyed
(C) hurt (D) tainted
(E) granted
32.All his money missing.
(A) went (B) was
(C) gone (D) be
(E) not

33.Select the sentences that are written grammatically correctly.
(A) There are 10 detectives in my unit, including my son.
(B) There are 10 detectives in my unit, my son included.
(C) There are 10 detectives in my unit, inclusive of my son.
(D) There are 10 detectives in my unit, my son is including.
(E) There are 10 detectives in my unit, my son is included.

34.Both Mary and | teach at Central Police University, so we are

(A) soulmates (B) colleagues
(C) directors (D) co-workers
(E) bosses

35.Smith finally stealing his father’s watch.
(A) talked (B) considered
(C) owned up to (D) admitted
(E) confessed to

36.Several studies found that police rapid response had little on clearance rate.
(A) preservative (B) effect
(C) influence (D) impact
(E) primitive

to



37.Whenever and wherever disasters and accidents , they can engage in rescue operation at
first minute.

(A) formula (B) take place
(C) happen (D) occur
(E) random
38.The public police of every country are the of the peculiar social, economic, and political
history of that country.
(A) result (B) steep
(C) outcome (D) consequence

(E) hesitation
39.There is a range of methods that can be applied to the comparative study of policing, which can be

as case studies or statistical analysis.

(A) sloped (B) classified
(C) episode (D) vanished
(E) categorized
40.The government may lack the to control its territory and maintain social order.
(A) competence (B) considerate
(C) capacity (D) capability
(E) ability
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